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1 AES AN BRI E
™ - " . ; - RV %5
BH index | BHAHK sid dom | nd |/ i
0x7002 save flash save flash uint8 1 HBAKT 0K, RAEFSHE (lash W
0x7003 release protection release protection uint8 1 BAKT I8 AR LIS R e W
" ) 1: LR )
0x7004 on/off on/off uint8 1 0- L W/R
1: Speed Mode
0x7005  [run mode EE LRI L uint8 1 [mEdhEst WR
3: Current Mode
4: Encoder Mode
0x7006 current (m) HLf X100 Int int32_t 4 |-1200007120000 W/R
0x700A speed (rpm) HE X100 Int int32_t 4 |-2100000000"2100000000 W/R
0x7016 position(® ) i X100 Int int32_t 4 |-2100000000"2100000000 W/R
0x7017 position_max_current i B AR HIE X100 Int | int32_t 4 ~120000" 120000 W/R
0x7018 speed_max_current JHE AR CHU X100 Int | int32.t 4 ~120000~120000 W/R
G epeed kp SR MKp K100000 Int | uint32 t 4 |For example: P=0.00001, P setting value=0.00001x100000=1, P-byte0=l, P-bytel=0, P- R
byte2=0, P-byte3=0
0x7021 speed ki SEEIRIKL X10000000 Int| uint32 t 4 [For example: 1-0.00001, T setting value=0.00001%10000000=100, T-byte0=100, I-bytel=0, I-| . o
byte2=0, I-byte3=0
R epeed kd MR MK K100000 Tnt | uint32t 4 |For example: D=0.00001, D setting value-0.00001x100000=1, D-byte0=l, D-bytel=0, D- R
byte2=0, D-byte3=0
0x7023 position kp BLEEIR K X100000 Tnt | uint32 4 |For example: P=0.00001, P setting value=0.00001¥100000=1, P-byte0=l, P-bytel=0, P- ¥R
byte2=0, P-byte3=0
0x7024 o I RrEHBGRIOKE X10000000 Tnt| uint32 t 4 For efamnle: IZOLOOOOI, 1 setting value=0.00001%10000000=100, I-byte0=100, I-bytel=0, I- WR
byte2=0, I-byte3=0
0x7025 position kd BLEBAIK X100000 Tnt | uints2 ¢ 4 [For example: D=0.00001, D setting value=0.00001%100000=1, D-byte0=I, D-bytel=0, D- ¥R
byte2=0, D-byte3=0
Speed Readback = Speed Readback-byte0 + Speed Readback-bytel * 256 + Speed Readback—
0x7030 Speed Readback X100 Int |SEififfiE int32_t 4 |byte2 * 65536 + Speed Readback-byte3 * 16777216 R
Actual Speed Readback = Speed Readback/100
Position Readback = Position Readback-byte0 + Position Readback-bytel * 256 + Position
0x7031 Position Readback X100 Int|S2if i int32_t 4 |Readback-byte2 * 65536 + Position Readback-byte3 % 16777216 R
Actual Position Readback = Position Readback/100
Current Readback = Current Readback-byte0 + Current Readback-bytel % 256 + Current
0x7032 Current Readback X100 Int [SZifiijf int32_t 4 |Readback-byte2 * 65536 + Current Readback-byte3 * 16777216 R
Actual Current Readback = Current Readback/100
Encoder Counter = Encoder Counter-byte0 + Encoder Counter-bytel * 256 + Encoder Counter—
0x7033 Encoder Counter Erat int32_t 4 |byte2 * 65536 + Encoder Counter-byte3 * 16777216 W/R
Can only use in Encoder mode
VIN X100 = VIN X100-byte0 + VIN X100-bytel * 256 + VIN X100-byte2 * 65536 + VIN X100-
0x7034 VIN X100 Int HN A int32_t 4 |byte3 * 16777216 R
Actual VIN = VIN X100/100
0x7035 Temp Int SO 1 int32_t 4 |Temp = Temp-byteO + Temp-bytel * 256 + Temp-byte2 * 65536 + Temp-byte3 * 16777216 R
RGB Mode:
0x7050 rgb mode RGB Mode uint8 1 0, Sys-default W/R
1, User—define
0x7051 rgb color rgb color uint32_t 4 |rgb color = RGB-B + RGB-G * 256 + RGB-R * 65536 W/R
0x7052 rgb brightness rgb brightness uint8 t 1 RGB Brightness: W/R
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